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General Instructions:

1. All questions are compulsory.

2. The question  paper consists of 30 questions divided  into four    sections –  A, B, C  and  D. Section  A  contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  C  is of 10 questions of 3 marks each  and  section  D is  of  5 questions of 6 marks each. 

3. [image: image3.png]In question on construction, the drawing should be neat and exactly as per the given measurements.
4.  In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculator is not permitted.  .
SECTION –A

1. State the Euclid’s Division Lemma.

2. If α and β are the zeros of the polynomial  x2 + 7x + 7, then find the value of 1/α + 1/β – 2αβ.
3. If 2 and 3 are zeroes of polynomial 3x2 – 2ax + 2b, find the value of a and b.
4. Verify that sin 3A = Sin2A.cos2A + cos2A.Sin2A, if A = 300.
5. If one root of a quadratic equation is ( 5 - 2√ 7 ) / 4, then write the other root. 
6. An arc of a circle is of length 6π and the sector it bounds has an area 30π cm2. Find the radius of the circle.
7. Half the perimeter of a rectangular garden, whose length is 4 m more its width is 36 m. Find the area garden, also find the length and breadth of garden.
8. In an A.P, if pth term is q and qth term is p, show that nth term is ( p + q – n ). 
9. Let ∆ABC ~ ∆DEF and their areas be respectively 64cm2 and 121cm2. If EF = 15.4cm find BC.
10. The sum of the square of two natural numbers is 34. If the first number is one less than twice the second number, find the numbers.
11. A box contains 19 balls bearing numbers 1,2,3 ….. 19. A ball is drawn at random from the box. What is the probability that the number of the balls drawn is a prime number.
SECTION – B
12. Prove that: (cosec A – sin A)(sec A – cos A) = 1/ ( tan A + cot A).
13. The coordinates of the vertices of a triangle ABC are A(4,1), B( -3,2) and C(0,k). Given that the area of ABC is 12 unit2, find the value of k.
14. Three unbiased coins are tossed. What is the probability of getting:

(a) at most two head 

( b) at least two heads.
15. Show that the point A(a, a), B(-a,-a) and C(-a√3,-a√3) form an equilateral triangle.
16. Find the value of p and q for which the following linear equations has many solutions:

2x – y = 5; (p + q )x + (2p – q)y = 15.

SECTION –C

17. Solve for x: 12abx2 – ( 9a2 – 8b2 )x – 6ab = 0. 
18. ∆ABC is right angled at A, BL and CM is its two medians. Prove that 4( BL2 + CM2 ) = 5 BC2.
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19. Use a single graph paper and draw the graph of the following equations: 2y – x = 8; 5y – x = 14; y – 2x = 1

20. A square ABCD is inscribed in a circle of radius 10 units .Find the area of the circle , not included in the square (use 
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21. Prove that 
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22. Two tangents PA and PB are drawn to a circle with centre O. from an external point P. 
Prove that angle APB is twice angle OAB. 
23. The coordinates of the vertices of a triangle ABC are A(0,5), B( -3, 2 ) and C( 0, k ) and the area of triangle ABC is 12 sq. units. Find the value of k.
24. Mr. Mohan takes 1 hour less when his speed is increased by 15 km/hr than its usual speed for a journey of 300 km. Find the usual speed of the Mr. Mohan. 
25. Construct a circle whose radius is equal to 3 cm. Let P be a point whose distance from the centre is 6 cm. Construct two tangents to its from P. Do you notice any other tangent during construction?
26. ∆ABC and ∆DBC are two ∆les on the same base BC. If AD intersects BC at O. 

Prove that ar. (∆ABC) : ar. (∆DBC) = AO : DO. 
SECTION –D
27. Mohan and his brother ( Lalit ) are 90m apart on a road. Both Mohan and his brother start at the same time. If they move in the same direction, they meet in 9 minutes. But if they move in the opposite directions, they meet in 1 minute. Find their speeds.
28. Prove that in a right triangle, square of the hypotenuse is equal to the sum of the square of the other two sides. Using the above theorem, prove that 2AC2 = 2AB2 + BC2, if AD perpendicular to BC and CD = 3 BD. 
29. The angle of depression of the top and bottom of an 8m tall building from the top of a multi – storeyed building are 30 and 45 respectively. Find the height of the multi – storeyed building and the distance between the two buildings.
30. A). A hollow cone is cut by a plane parallel to the base and the upper portion is removed. If the curved surface of the remainder is 8/9 of the curved surface of the whole cone, find the ratio of the line-segment into which the cone’s altitude is divided by the plane.

B). Water in a canal, 6m wide and 1.5m deep, is flowing with a speed of 10km/h. How much areas will it irrigate in 30 minutes, if 8cm of standing water is needed? 
31. Find the mode of the following data.
	C.I
	50 - 55
	55 - 60
	60 - 65
	65 - 70
	70 - 75
	75 - 80

	Frequency
	2
	8
	12
	24
	38
	16



Change the distribution to a more than and less than type distribution and draw its ogive.
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